PARTS

CONTENTS

Parts

K02
K03
K03
K03
K03
K04
K04

Shim
Cartridge
Chip Breaker
Chip Cover
Clamp
Coolant Bolt
Wrench Bolt

K04
K05
K05
K05
K05
K06

Lever
Locator
Nut

Pin
Screw
Shim Pin

K07
K07
K07
K07
K07
K07

Spring
Wrench
Stop Ring
Washer
Stopper
Nozzle



K Parts

@ Shim
o Dimensions i i
Geometry Designation a b c d Jangle Geometry Designation a bDlmellswns d Jangle
SC32 85 | 3.18 49 bfoa c SES33C | 91 | 12 | 476 | 35
SC32N 85 | 3.18 488 i
SC42 125 | 3.18 6.9 ﬁ‘ﬂ b] ot
SC42N | 116 | 3.18 65 / —1
SC53 157 | 4.76 7.9
SC53N | 146 | 4.76 8.1
SC63 18.85 | 4.76 10 SK33C | 933 | 147 | 48 | 35
SC63N | 178 | 476 96 SK33CL | 933 | 147 | 48 | 35
sC83 244 | 476 128
SC8N | 242 | 635 13
SC42B | 125 | 3.18 6.9
SR10 84 | 318 47
SR12 10 | 3.18 47
SR16 1355 | 4.76 6.9
SR20 171 | 4.85 79
SR25 22 | 635 96
Sca42cC | 125 | 3.18 35 SR32 278 | 6.35 13
b SR42CC |12.575] 3.18 35
©1 I
SC32D | 927 | 3.18 6.48 -
SC43D |1245] 476 7.34 . SR10S 88 | 3.18 54
SC53D | 1562 476 9.65 Tt |[SR12s_ [1055] 318 54
SC63D | 188 | 476 11.25 ] -
SC84D | 2508 | 6.35 14.85 @ Ed]
SC428 115 | 3.18 6.4 ;
SC328 83 | 3.18 5.4 SS32 85 | 3.18 49
SS32N 85 | 8.18 488
$S42 125 | 3.18 6.9
a < ] b, SS42B 125 | 3.18 6.9
— SS42N 116 | 3.18 65
SC63V | 1835 476 55 i @a @H SS53 157 | 4.76 7.9
SC83V | 253 | 476 6.55 N SS53N 146 | 476 8.1
SC84V | 253 | 635 6.35 . SS63 18.85 | 4.76 10
SC32v [ 9.12 | 3.18 34 SS63N 178 | 476 96
SC42v 126 | 3.18 45 SS84 244 | 635 128
Sca4v 126 | 6.35 45 SS84N 242 | 6.35 13
SC54V | 1575 6.35 55 R b SS42CC | 125 | 3.18 35
$S32V 9.12 | 318 34 ‘ SS32CC | 93 | 318 35
SS42v 126 | 3.18 45 i
SS54V | 15.75 | 635 55 @a jdi
SS64V 18.9 | 6.35 55 —
I
SS32D | 927 | 3.18 577
SD317 935 | 27 5.2 SS43D [ 1245 4.76 7.34
. SD32N 85 | 3.18 488 SS53D | 15.62 | 4.76 9.65
— SD42 125 | 3.18 6.9 SS63D 188 | 4.76 1.25
E—d SD42N 116 | 3.18 6.5 SS84D | 2515 6.35 14.43
[ 1° | SD43N 1.6 | 475 6.5
— a R $5325 83 | 3.18 54
b SD32D 92 | 3.18 538 SS42S 115 | 3.18 6.4
. SD43D | 1245| 476 7.34 ! =
_ = - a +r+d
I @ l L
_/7 ‘ 7 —
a b SS42SAF | 112 | 3 55
b SD32S 85 | 3.18 5.4
SD42S 115 | 3.18 6.4
L
ST317 935 | 27 5
b SD32v | 912 [ 3.18 34 ST317B | 935 | 27 5
: SD43V 126 | 476 45 ST317N | 85 | 27 4.88
SD44V 126 | 6.35 45 ST42 125 | 3.18 6.9
a j’i ST42N 11.6 | 3.18 6.5
A— ST53 15.7 | 476 79




Parts K

@ Shim @ Cartridge
N Dimensions Dimensions
Geometr Designation Geometr ignati
v 9 a b c d |angle v LI a b c d |angle
60° ib‘ ST32CC | 9.35 | 3.18 35 LAPDR-AJ|M4x07| 30 | 15 | 10
a
e
a T b
el .

ST32C1 | 9.13 | 3.18 4.95
ST42C1 | 123 | 3.18 495 .
@ Chip Breaker
R Dimensions
Geometr
y Designation = b c d Jangie

ST32D | 9.35 | 3.18 5.77 -~ 2. |CB20 85 | 34 | 20
ST43D | 1252 476 7.34 74
ST53D 157 | 476 9.65 o
ST63D | 18.87 | 476 11.25 q °
ST32M 87 | 3.18 47
ST43M 12.5 | 4.76 6.3 @ Chi

ip Cover

Geometry Designation Do

a b c d |angle

[ crmpsr1art-a] 105 | 20 | 1 [(943)
ST32S | 85 | 318 54 o CFMP3R-A | 8 | 18 | 1 |(249)
o [CFMPAR-A | 8 | 22 | 1 |(243)

¢ el

ST32v | 912 | 6.18 34
ST44V 12.6 | 6.35 45 @ C|amp
N Dimensions
Geometr
y Designation a b c d Jangie
a CAO05R 89 | 55 | 17.6 | 33
SV32D | 92 | 318 58 - CAOGR | 12 | 72 | 206 | 53
SV43D | 1229 476 7.34 CH5R3 | 785 | 72 | 128 | 31
¢ CH6R4 [1202| 9 2397|375
VA
Sv32p2 | 9.2 | 318 58
SV32s | 84 | 318 54 R ] CBH45R1| 8 | 574 | 177 | 4
~ =t CBH4.5R2| 95 | 64 | 18 | 4
) A CBH5R1 | 10 | 78 | 213 | 5
/) o [ CBH6R1 | 12 | 93 | 26 | 6
SW317 | 935 | 27 5
SW317N | 85 | 27 488 q @
Sw42 125 | 3.18 6.9
SW42N | 116 | 3.18 6.5 - ) COReN | 95 | 10 | 186 | 61
il COH7N | 79 | 114 [ 147 | 47
i CDH8N | 109 | 169 | 224 | 6.1
SW32D | 925 | 3.18 58 S — CDH8N1 | 109 | 169 | 19.1 | 6.1
SwasD | 1245 | 4.76 7.34 \{ CDHBN2 | 109 | 169 | 254 | 6.
SW53D | 1562 4.76 9.65 d CDH8N3 | 125 | 198 | 254 | 9.
SW63D | 188 | 4.76 11.25
SW84D [ 2489 635 14.43
s . CDSSN | 108 | 17 | 222 5
SW43M | 125 | 476 6.2 T | —
SW32M | 852 | 3.18 52 c g
d
j CGH5R1 | 195 | 95 | 288 | 25
Sw32v_ | 912 | 318 34 T /7 CGH5R2 | 205 | 95 | 288 | 35
SW44v | 126 | 635 45 5 CGH5R3 | 225 | 95 | 288 | 55
SW54V | 1575 | 476 55 @ o ﬁ
L ; 5§
a B




@ Coolant Bolt

N Dimensions . . Dimensions
Designation A b & d [angle Geometry Designation a|blc|d|Bm &
CGH6R1 | 223 | 11.9 | 232 | 25 CBA100-INMM | M16 | @54 | @43 | 47 | 14 | (32)
CGH6R2 | 232 | 11.9 | 232 | 34 CBA100-IN-25.4 | M12 | @44 | @36 415] 10 | (25)
CGH6R3 | 240 | 11.9 | 232 | 42 CBA125IN M20 | 65| @54 | 56 | 17 | (38)

CBA125IN-25.4 | M12 | @44 | @36 | 435 10 | (25)
B @) | CBAT25-MM | M20[265[ 54| 57 | 17 [ (35)
13 CBA160-IN M24 | 83| @73| 56 | 19 | (38)
CHH3.5R1| 75 | 67 | 13 | 245 - CBA160-MM | M20 | @83 | @73 | 53 | 17 | (34)
CHH4.5R1| 7.9 | 7.85 | 141 | 254 bl e j_« CBP100-IN M16 | @50 | 243|486 | 14 | (32)
CHH5.5R1| 9.8 | 10 | 164 | 4 [ ; CBP100-IN-25.4 | M12 | @44 | 236 | 46.5| 10 | (25)
CBP100-MM-1 | M16 | @50 | @43 48.6 | 14 | (36)
CBP125-IN M20 | @65 | @54| 56 | 17 | (38)
CBP125-IN-25.4 | M12 | @44 | @36 55 | 10 | (25)
CH4R1 74 | 5 | 141 | 3.1 CBP125-MM | M20 | @65 | @54 | 57 | 17 | (35)
CH5R1 100 | 66 | 202 | 45 CBP125-MM-1 | M20 | @61 | @54 | 65.6 | 14 | (33)
CBP160-IN M24 | 83| @73] 56 | 19 | (38)
CBP160-MM | M20 | @83 @73] 53 | 17 | (34)
® Wrench Bolt
CH5R2 685 | 7 |138 | 2
CH6R2 885 | 87 | 165 | 2 L Dimensions
CHGR3 | 118 | 10 | 23 | 42 Geometry Designeon—xT¢ T K [ L | W™
SB0825 | 13 6 8 25 | M08 x 1.25
SB1025 | 16 8 10 | 25 |M10x1.50
— /" [sB1035 | 16 | 8 | 10 | 35 |MI0x1.50
CMH5R1 | 185 | 7.9 | 16 | 6.26 @ Af;; | ] [sB1230 [ 18 | 10 | 12 | 30 |M12x175
CMH6R2 | 200 | 11 | 175 | 138 v SB1630 | 24 | 14 | 16 | 30 | Mi6x20
CMH6R6 | 185 | 7.9 | 16 [ 6.26 ¢ SB1645 | 24 | 14 | 16 | 45 | M6x20
CMH6R1 24 | 85 | 165 | 8.28 SB2040 | 30 | 17 | 20 | 40 |M20x25
CB1025 | 13 6 8 25 | M08x1.25
CMH6R3 | 20.0 | 11 |17.51 CB1025 | 16 8 10 | 25 | M10x1.50
CMH6L3 | 200 | 11 |17.51 CB1035 | 16 8 10 | 35 | M10x1.50

CB1230 | 18 10 12 30 | M12x1.75

CB1245 | 18 10 12 45 | M12x1.75

CB1630 | 24 14 16 30 M16x2.0

CB1645 | 24 14 16 45 | M16x2.0

CS5R1 6.8 7 | 145 ] 2 CB2040 | 30 17 | 20 | 40 | M20x2.5

CS6R1 88 | 85 | 181 | 27
CS8R1 1.8 | 10 23 | 42

@ Lever
CTH6L1 235 | 12 | 254 | 14.35 . . Dimensions
CTH6R1 | 235 | 12 | 254 | 1435 Geometry Designation ™17 7" T § [angle
CTH6R2 | 2178 129 |31.22[17.33 a LR10 34 | 108 | 17| 3
= LR12 37 | 135 | 134 | 35
b LR16 475 | 187 | 183 | 43
dzt LR20 59 | 205 | 187 | 555
b c.d, |CVH3 21 | 11 | 58 | 77 L ‘ - LR25 735 | 2425| 237 | 62
r (o= |CVHaV 29 | 14| 7 | 8 - " LR® 8.45 | 207 | 2695 | 7.9
; . CVH4 255 | 145 | 6 7 a Lv2 26 | 775 ] 6 | 21
CVH5 30 | 17 | 75 | 95 v - LV3B 31 | 10 | 95 | 37
i CVH6 335 | 185 | 8 | 10 . LV4B 47 | 1455 156 | 47
o7 ] LV4BN 47 | 16 | 149 | 468
I <D CXH8N 101 | 10.0 | 175 - j . ‘
_— Lv3 37 | 10 | 12 | 36
© LV3N 375 | 10 | 12 | 355
LV3AN 375 | 124 | 114 | 464
Lv3C 31 | 10 | 785 | 36
5 LV3CN 32 | 10 | 78 | 36
@® Coolant Bolt . Lv3D 31 | 17| 95 | 36
S b LV3DN 32 [11.65| 95 | 355
Geometry Designation [——— DumenslgnsB - af | Lv4 47 |1455| 14 | 47
. ‘ £ it c | [LvaN 47 [1345| 132 | 468
B (@) CBAOG3-3INIMM | M10 | 225 | 16| 37 | 8 | (27) AN s 11 7 6
‘ % CBA0G3-4INMM | M10 | @25 | @16 | 425 | 8 | (27) LV5N 6 164 [17.08 | 5%
b ¢ f} 7777777 CBAOSO-INMM | Mi2 | 928| @18] 455 10 | (32) LVEAN s Tieszl 773 T8
L CBPOG-INMIM | M10 | 922 | 316|386 8 | (27) V6N 5 205 21 1 76
d CBPOSOINMM | M12 | 225 | @18 48.6 | 10 | (32) LVSN 86 "5 252 1 86
4




@ Lever @ Screw
Geometry Designation | — bDlmellswns d Geometry Designation —— : me:smzs B[ &
& LV4A 46 |1324| 995 | 47 CHX0625 | 1420UNC|24.8] 11 | 10 | 4
oy LV4AN 47 | 133 | 10 | 468 CTX03510 [ M35X06| 10 |47 |53 | 15
b (S d( ‘ a¢ CTX04513  |M45X075(13.1] 6.9 | 68 | 20
N q X/ ‘ CTX04513H |M45X075[13.1] 7.2 [ 6.8 | 20
. E] T L+ CTX0515 M5X08 | 15| 8 | 7 | 20
- | CcTX0517 M5X08 175 10 | 7 | 20
CTX0621 M6X10 [212[12.4] 9 | 25
@ Locator DHA0514 M5X08 [14.0] 5.0 | 7.0 | 25
e DHA0617 M6x10 |17.0] 7.0 | 7.5 | 3.0
Geometry Designation a b c d DHA0620 M6x10 |20.0| 8.0 | 8.0 | 3.0
TR IGRTAR AR P ‘ DHA0624 M6x10 |24.0[12.0] 85 | 3.0
Crnpar i ez 245 155 62 &) ai el |[DHA0815 | M8X12 [155[6.25/6.25] 4.0
: : ] o 8] c d DHAOB18F | M8X10 | 18 | 85 | 55 | 40
LFMP4R-A | M45 | 263 | 138 | 62 T 7577 [DHA0B20 | W81 200]80 | 9.0 | 40
DHA0821F | MBX10 [21.0] 85| 85 | 40
DHA0825 | M8X125 [25.0[10.0| 9.0 | 40
DHA0830 | M8X125|30.0| 115|115 40
LFMASR-A | M3 | 185 | 95 | 48 ETGAO520CBM | W5X08 | 20 65 20 | 43
LFMA4R-A | M35| 26 | 181 ] 73 ETGD0825 | MBX125|252| |11 40 | 40°
ETKA0523 | M5X08 | 23 76 | 20 | 43°
ETKA0625 | M6X10 [255 88 | 20 | 43°
ETKD0516 | M5X08 |16.4 6.8 | 20 | 40°
ETKD0620 | M6X10 | 20 83| 30 | 40°
@ Nut ETNA02506 [M25X045] 5.7 34| 7 |43
ETNA0408 | M4X07 | 80 51| 15 | 43°
— ETNAOA12 | MeX07 | 12 51| 15 | 43°
G Designation [— bD'“‘;’“s“;‘s BT & ETNAO511 | M6X08 [11.0] |64 20 | 43°
— Noso7  Iwexorl 751 6 | 7 | 3 ETNDO02506F |M25X035)6.25 31| 7 |40°
) a\ ) 4_‘? Nosos  |vsxosl 83 (661 7 | 3 ETNDO307F | M3X035 | 7.8 37| 8 |40°
O’ i l ETND03509 | M35X06| 9.6 47| 10 | 40°
- N — FTGAO03507 | M35X06| 7.0 53 | 15 | 60°
8 bc FTGA03508 |M35X06] 8.0 53| 15 | 60°
FTGA03510 |M35X06[10.0 53| 15 | 60°
FTGA03512 |M35X06[12.0 50| 15 | 60°
@® Pin FTGAO411F | M4X05 [11.0 70 | 15 | 60°
FTGAO417CBM | M4X07 [17.0 55| 15 | 62°
_ Dimensions FTGAO0510-P | M5X08 [10.0 7.0 | 20 | 63°
CEcIeny Designation —=—— =1 FTGAO512-P | M5X08 | 12.0 70| 20 | 63°
PN0308 3.0 8 FTGA0513 | M5X08 |13.2 70| 20 | 61°
aI PNO310 | 30 | 10 FTGA0513-P [ M5X08 |13.0 70| 20 | 63°
) PN0312 | 30 | 12 FTGA0517 | M5X08 [17.0 75| 20 | 61°
PNO314 | 30 | 14 = FTGA0621 | M6X10 215 90 | 20 | 61°
PNO515 | 48 | 33 | 145 a dl - s} [FTGA0826 | MBX125[260] |116] 25 | 61°
a bi . o FTKA02206 |M22X045 55 30| 6 | 60°
. * FTKA02206S [M22X045] 5.6 305| 7 | 60°
FTKA02555 |M25X045] 5.5 35| 7 |60°
FTKA02565 |M25X045| 6.5 35| 7 | 60°
® Screw FTKA02565S [M25X045] 6.5 38| 8 |60°
FTKA0307 | M3X05 | 7.2 42 9 |60
Geometry Designation Dimensions ) FTKA03508 | M35X06| 8.4 55| 15 | 60°
a b|c|d|BT| a FTKA03510 | M35X06|10.4 55| 15 | 60°
- a |AZ0508F | MsX05| 13| 8 | 9 | @2 FTKAO03511A | M35X06 | 11.0 52| 15 | 60°
e ) |AZ0514 MsX08 | 14| 7 | 9 |o25 FTKA0408 | M4X07 | 8.4 55| 15 | 60°
J FTKA0410 | m4xo7 [10.0 55| 15 | 60°
6| 7 b——c» FTKAO411K | M4x07 [11.0 68| 15 | 60°
- FTKA0412B | M4X07 [125 55| 15 | 60°
BHA0510 | M5X08 | 15 | 10 | 85 | 40 FTKA0413 | M4X07 [13.0 55| 15 | 60°
@d + ‘ BHA0512 | M5X08 | 17 | 12 | 85| 40 FTNAO1633 |M16X035| 3.3 26| 6 | 60°
L"” \ai BHA0612 | M6X10| 18 | 12| 10 | 5.0 FTNA0203 | M2X04 | 3.0 27 6 | 60°
s i BHA0614 | M6X10| 20 | 14 | 10 | 50 FTNA02033 | M2X04 | 3.3 27 6 | 60°
o b BHA0616 | M6X10 |22 |16 | 10 | 5 FTNA0204 | M2xo4 | 43 271 6 |60°
BHAOG1O-NYLOK | M6X10 | 25 [ 19 | 10 | 5 FTNA02205 [M22X045| 4.5 30| 6 |60°
_ CHX0407 | M4X07] 9.5 |7.36] 5.7 | 25 FTNA0238 | M2X04 | 38 30| 6 |60°
@ dI ;LH:FE CHX0415 | M4X07 [175] 15 | 5.4 | 25 FTNA0305 | M3X05 | 5.2 42] 9 |60
i k:‘C CHX0510 | M5X08 [13.1[101] 7.7 3 FTNA0306 | M3X05 | 6.2 42 9 [60°
= 5 CHX0518 | M5X08 [215| 18 | 8 | 3 FTNA0307 | M3X05 | 7.2 42 9 |60
CHX0622 | M6X10[265] 22 | 10 | 4 FTNA0408 | MX07 | 85 55| 15 | 60°
@ dT - CHX0513 | M5x08] 13 | 8 |64 ] 25 FTNAO411 | M4X07 [11.0 55| 15 | 60°
'y (F CHX0616 | M6x10 [162[10.1] 85| 3 FTNAO511 | MX08 | 7 | 11 | 67 | 20 | 63°
[ c CHX0617L |Vext0pon|17.2[10.1] 85 | 3 FTNA0513 | M5X08 |13.0 70 | 20 | 60°
b CHX0621 | M6X10 | 21 |10.1| 85| 3 FTNA0516 | M5X08 [16.0 7.0 | 20 | 60°




K Parts

@ Screw
_— Dimensions — Dimensions
Geometry Designation ————= T4 BM 4 Geometry Designation |— b | c|d]|BT 4
FTNB0411 | M¢X07 | 10.8 57 15 | 60° PXMA0306 | M3X05 | 5.9 57] 2 |90
FTNC04500 |W45X075] 9.5 68| 20 | 55° o | [SHX0310 |msx05| 10 59| 2 |9t
@ GT 3 s} |FTNCO4511 [Me5X075 115 68| 20 | 55° @ ¢ dI 5 }al
T b |8| b '
KHA0508 | M5X08 | 8 25 RHA0510 | M5X08 10 40
KHA0510 | M5X08 | 10 25 dl a 2} |[RHAOG13 | W6X10 | 163 | 18 [105] 40
KHAO0610 | M6X10 | 10 3 1 RHA0620 | M6X10 | 24 | 20 |10.5] 4.0
aliE— KHA0612 | W6X10 | 12 30 = =
E e KHA0812 [M8X125| 12 4.0
KHA0815 |V8X125| 15 40 RHA0613 | M6X10 | 18 85 40]61°
KHA1015 |M10X15] 15 50 N
KHA1020 |Mi0X15] 20 50 a‘di ——7-
g @ KHBO417 | M4X07 |17.2] 45 | 25| 2 . T
_ KHBO0406 | M¢X07 | 6 | 42| 3 | 2 — ‘

@Z f—-—1 VHX0509B | M5X08 | 9 |415| 5 | 2
e VHX0512B | M5X08 | 12 | 65| 5 | 2
-~ b . VHX0512BN | M5X08 | 12 |6.56| 5 | 2

KHCO0510 | M5X08 | 10 | 81 25 90° VHX0514 | M5X08 | 145 |8.25] 5 | 2
N KHCO0610 | M6X1.0 | 10 | 7.8 3.0 | 90° VHX0613N | M6X1.0 | 13.4 | 7.5 |5.93| 2.5
@ thav‘ KHCO0812 |M8X125| 12 | 9 40| 90° VHX0617 | M6X10| 17 | 10| 6 | 25
2 KHC1016 | M10X15| 16 |12.3 50| 90° VHX0617N | M6X10 | 16.75 |8.34| 59| 2.5
—5 KHC1020 [Mi0X15] 20 [163 50 90° \f@ ai di VHX0817N | M8X 10 | 17.05(7.98 7.9 | 3
i L [VHX0820N | M8X10 | 207 |7.98] 7.9 3
KHD0510 | M5X08 | 10 | 9 | 3 | 25 - VHXO0B20AN | M8X10 | 20.5 |1036] 7.9 | 3
KHDO0610 | M6X10 | 10 | 10 | 4 | 3 VHX0821 | MeX10| 21 |10 8 | 3
KHDO0810 |MeX125| 10 | 10 | 7.5 | 4 VHX0821N | MeX10 | 21.2 |9.68] 7.9 | 3
VHX0823N | M8X10 | 235 |1036] 7.9 | 3
VHX0825 | M8X10| 25 | 12| 8 | 3
LTX0512 | M5X08 |15.1] 12 | 7.3 | 20 VHX1027N [ M10X10| 27.2 [144] 98| 5
LTX0514 M5X08 (171 14 | 7.3 | 20 VHX1236N | M12X1.0| 36 |18.3|11.8] 5
VHX0613A | M6X1.0 | 13.4 | 9.1 |6.0 | 25
MHAO0512 | M5X08 [17.0]10.8] 8.0 | 40 @ a ﬂ
- MHB0310 | M3X05 |13.4] 8.0 | 55 | 25 : -
@ o Ji Jal  [MHBO410 [ WX07 [140[ 80| 7.0 |30 s .
= ) MHB1055 | M10X15| 65 | 50 | 16 | 8
- - MHB1260 |M12X175] 72 | 55 | 18 | 10 SHXNOS09F | M5X05 |M35%06|8.65| 6.3 | 3.5
MHB1680 | M16X20] 96 | 75 | 24 | 14 ‘ SHXNOG1OF | M6 X075 | HX05| 10 | 7.8 | 4
— MHX0523 | W5X08 |23.5] 9.7 | 10 | 25 SHXNO712F | M7X075 | 6X08] 12 | 85| 5
() dI MHX0626 | M6X10 [25.8] 10 | 11 | 3 B c
NiiZBn MHX0630 | M6X10 | 30 |12.5]10.5| 4
b _ & |WTX0813 |MgX125| 172 |49 85| 25
df \ai WTX0817 |M8X125| 22 |49 (85|25
PTKA02508|V25X0%] 8 | 5 | 38| 8 | 92° Ay
PTKA03510|M35X06] 10 | 5 | 5 | 15 | 92° b
PTKAQ407 | M4X07 | 7 | 46 | 55| 15 | 86°
PTKAO407F| MéX05 | 7.3 | 38 | 6.5 | 15 | 91° . .
PTKA0408 | M4X07 | 8 | 56|55/ 15 | 86° @ Shim Pin
PTKAO408F| MéX05 | 8.3 | 5.7 | 6.5 | 15 | 91° —
PTKAQ409F | M4X05 | 9.3 | 6.7 | 65 | 15 | o1° Geometry Designation |— bD'me“s'°c"s !
PTKAO410F| MéX05 |10.3] 7.7 | 65 | 15 | 91°
T a | PTKAO411F| W4X05 [11.3] 87 | 65 | 15 | 91° SP3 55 | 35 5.9
/4 |PTKAO#12 | Mexo7 | 12 | 75|59 15 | o2° SP3N 685 | 33 5.85
|- [PTKA0412F| Mex05 [123] 9.7 | 65 | 15 | or° SP3N-1_| 53 | 33 5.55
o PTKAO413F| MéX05 |13.3|10.7| 6.5 | 15 | 91° . SP4 70 | 40 76
b PTKAO512 | M5X08 | 12 | 7 | 69 | 20 | 92° CT \ \ bI ¢+§ SP4N 58 | 4.35 74
PTMA03508|M35%06| 8 | 53| 6 | 9 | 90° : : | SP5 85 | 45 8.8
PTMAO403F| M4X05 | 33 | 1.7 | 65| 15 | 91° é SPSN 8.5 | 568 9
PTMAO404F| M4X05 | 43 | 27 | 65 | 15 | 91° SP6N n1 ] 60 1.0
SP8N 120 | 100 | 1535

PTMAOQ405F| M4 X 05| 5.3 | 3.7 | 65 | 15 | 91°

PTMAOQ406F| M4 X 05| 6.3 | 47 | 65 | 15 | 91°
PTMAOQ411 |M4X0.7| 11 | 85| 6.6 | 15 | 90°

PTKA0411-R3| M4 X0.7| 11 |69 | 6 | 15
5 14 M5 X 0.8

L]

[N Kl

T R3.0 a SP2M
/ d
SP3M 35 | 195 M4 X 0.7
d _ % a ]
SP3M-1 35 | 165 M4 X 0.7

e b SP4M 5 19 M5 X 0.8

=ee




Parts K

@ Shim Pin @ Wrench
N Dimensions Dimensions
Geometr N
y Designation | — b c d Geometry Designation |— b | BT
SP3D 37 | 131 | UNF10-32 | 56 TW07S 140 | 60 | 7
SP3D2 36 | 12 | UNF10-32 | 55 TW08S 150 | 76 | 8
| SP3DS 37 | 1154| UNF10-32 | 56 TW09S 165 | 70 | 9
aI g ,H SP4D 497 [ 1719 | UNF1/428 | 7.12 . r% TW15S | 190 | 90 | 15
SP4DL 5 | 17.1 | UNF11428 | 7 a TW20S 195 | 91 | 20
b SPADS | 497 [13.26| UNF1/428
SP5D 6.21 | 21.9 | UNF5/16-24 | 9.44
SP6D 775 | 21.9 | UNF3/8-24 | 11.02 R TW20 75 | 80 | 20
SP8D 9.02 | 29.63 | UNF7/16-20 | 14.21 TW25 74 | 80 | 25
LSPS3 60 8.2 5.55 a
LSPS4 65 | 10 7
LSPS5 69 | 11.4 8.85 '
LSPS6 69 | 13 1 ﬁT
LSPS8 73 | 165 15.2 SW15S 150 | 13
. D[
@ Spring Slfe=—
Dimensions a
Geometr ignati
y Designation a b c d Jangie
e O SR2 40 | 28 | 126 | 04
S @ Stop Ring
C
| Dimensions
Geometr ignati
. y Designation = b c d angie
CR03 48 | 26 | 04 | 30
SPRO31S5 | 30 | 15 CR04 66 | 36 | 04 | 40
/X\/N SPR0415 | 40 | 15 }/ ROS o a5 T0s 50
a SR3 92 | 125 q/ ' ' : :
WWW SR4 40 | 110 ‘ b | c
b SPR0714 7 14 a
— ——— 3 5 1 ER03 70 | 26 | 06 | 30
iR 66 PROSI0Y 5 | g ER04 | 90 | 85 | 06 | 40
a SPR0714 7 14 1 ER05 1 43 0.6 5.0
AR SPRO811 | 8 | 1 : |
S © = b c
b
1 a
@ Wrench @ Washer
N Dimensions
Geometry Designation imensi
9 a b | B(T) Geometry Designation Dimensions
HW20L 52 18 2 a b ©
=" = ' |[HW2L |85 205 25 — WA3 10| 68 0510
$%‘: HW30L 66 23 3 WA4 10.0 | 53 [05~1.0
bl HW35L 72 | 25 | 35 @
o HWA40L 74 29 4
HW50L 85 | 33 | 5 b e
b HW40 82 80 4
HW50 % | 90 | 5
2 @ Stopper
&8 Geometry Designation |— bDlmer::swnsdo
-~ SW50L 70 | 275 STP5 1102 1 | 30°
bl “ @ al o f—-
v
© \‘b/ 80° c
TWO06P 63 6
T TWO07P 63 7
—_—— QIE TWOSP [ 71 8 ® Nozzle
‘ TWO09P 75 9
a TW10P 78 10 Dimensions
- Geomet ignati
TWISP | 82 15 i e NN
TW20P 86 20 - CN0605 6 4.6
a TW15L 60 21 15
T“ TW20L 60 21 20 a
b
v i ]
b
@%T






